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AccountType getValue( \/

AccountType.getDe sc(]

CmsCapitalStatementService queryTotal TransAmtWithCondition(CmsCapital!

P2PAccountResponse setP2PAcctinfo(P2PAcctinfo \/
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CmsCapitaIStatementResource.query(String)
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—[ © com lufax |af cases payment app.accountRapp AccountsBalanceByUserldTest ]

L{ & testGetBalanceByUserldNotHavingP2PAccount

—[ © com lufax |af cases payment app accountRapp. CmsCapitalStatementsTest ]

L{ & testQueryCmsCapitalStatement ]

—[ © com.lufax |af cases. payment app.accountRapp.FundWeixinResource Test ]

L{ & testinvalidParamListDtiCheckResult ]

—[ © com lufax |af cases payment app accountRapp P2PTrasactionHistoryQuery Test ]

—[ & testQueryP2PHistory

—[ & testQueryP2PHistoryParameterValidation
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P2PResource

PZPAccountResponse

AccountType
P

CmsCapitalStatementRnd

Lu("1", "EEEHET,

v ("3", "REELST,

LU P2P("2", "PZEEHFT),
v_p2p("4", “fREP2RELST),
sz_p2p("e", "FERr2eEWS,") ;

priwvate String walue;
private String desc;

LeccountType (String value, String desc)
thi=z.value = wvalue;
this.desc = desc;

public String getDesc() {
return de=sc;

}

public String getValue({] |
return valus;

}

i

public static booclean isQuerableRhccount (String accountTypeValue] |
if (LU _P2ZF.getValue (} .equals({accountTypeValue)) {

return true;
I else |
return false;
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